L L H g5 it e eH# EFHRE ETxp piged THFR

=87 813201|F05¥ NEREME 2l0E 20 =T [13:55%14:45
—3E 816109|iE0E = ROR 20 =T [13:55%14:45
—3E 816117|FE0f {EE ROR 20 —=®&ETF [13:55%14:45
—3E 8161341701 {EE ROK 20 —=®&ETF [13:55%14:45
—&3 817109|#0% = ROK 20 —=®&ETF [13:55%14:45
—&3 817112|34032 {EE ROR 20 =®&ETF [13:55%14:45
—8B7f 810106|#01A {EE ROR 20 =®&ETF [13:55%14:45
—8B7f 810114|FR0:E = ROK 20 =®&ETF [13:55%14:45
= 812202|20%% {EE BROF 20 =T [13:55%14:45
=¥ 81221435081 {EE8 BBEOF 20 =T [13:55%14:45
— 1% 812110[3E05% = BBEOF 20 —=®&ETF [13:55%14:45
— 1% 812112|350%5 {EE BROF 20 —=®&ETF [13:55%14:45
=K 819131|E08) {EE #0% 20 —=®&ETF [13:55%14:45
=K 819131|E08) SCEABUERIT [5ROER MO%E = |13:00%13:50
—R® 818106| 204 SCEBERIT  [HB0E FROFE =7  |08:00Z08:50
=K 819131|E08) EREY O ;10E FROFE =7 |08:00%08:50
= 81221435081 EREY O s10E FROFE =7 |08:00%08:50
=5 811122[15085 EREY O CI{0E FROFE =7 |08:00%08:50
—3E 816106|Z03E EREY O CI{0E FROFE =7 |08:00%08:50

(ERRE T
=P 812110|5R05% SEREX BROZE E TR

(ERRE T
=57 811219|55032 EREY O #7003 Ekaya=

(ERRE T
— 1% 812105|# 0% EREY O #7003 Ekaya=
= 81221435081 FEXVI T0E SL0M; =357 [10:00%10:50
= 812201|F0% FEXVI T0E SL0M =357 [10:00%10:50
=K 819131|E08) FEXVI T0E SL0M; =357 [10:00%10:50
—8B7F 810106|# 014 FEEVI 5RO SL0M =357 [10:00%10:50
—8B7F 810128|/E0iE FEEVI 5RO SL0M =357 [10:00%10:50
—&3 817112[;£032 FEEVI 5RO SL0M =357 [10:00%10:50
=1to 815221|=018 FEEVI BROZE SL0M =357 [10:00%10:50
—BF 813111|#R0%= FEEVI BROZE SL0M; =357 [10:00%10:50
—BF 813106| 20 FEEVI BROZE SL0M; =357 [10:00%10:50
=1to 8152123505 FEEVI BROE SL0M =357 [10:00%10:50
=5 811122[15085 FEEVI CI{0E SL0M =357 [10:00%10:50
=5 8111143505 FEEVI CI{0E SL0M =357 [10:00%10:50
=5 811101| L 0% FEEVI CI{0E SL0M =357 [10:00%10:50
=5 811104|203E FEEVI EI{0E SL0M =357 [10:00%10:50
=5 811106|Z0/E FEEVI EI{0E SL0M =357 [10:00%10:50
=5 811105| 2044 FEEVI CI{0E SL0M; =357 [10:00%10:50
=5 811127|20fx FEEVI CI{0E SL0M; =357 [10:00%10:50
=5 811133|8R0/R FEEVI {0 SL0M =357 [10:00%10:50
—3E 816106|Z03E FEEVI CI{0E SL0M =357 [10:00%10:50
—3E 816109|iE0E FEEVI {0 SL0M; =357 [10:00%10:50
—3E 8161341701 FEEVI EI{0E SL0M =357 [10:00%10:50
— 1 812105|# 0% FEEVI #R0%E SL0M; =357 [10:00%10:50
=57 811219|55032 FEEVI #R0%E SL0M; =357 [10:00%10:50
— 1% 812110[3E05% FEEVI #7003 SL0M; =357 [10:00%10:50

(ERRE T
=58 811133|&x0R Bl 5T VI Ota HiTEHE

(ERRE T

="EB 811132|Z0= FBXVI Wola BT




(ERRZET
=5 811129|E02 BEE VI Wola BT
A= S
=5 811124| B0 EEQY! Wola BT
(ERRZET
=5 8111263807z BlFES VI Wola BT
A= S
=58 811136|2I0& BlFES VI Wola BT
(ERRZET
=5 811137[3R0J& BlFES VI Wola BT
A= S
=5 811105|Z044 BlFES VI Wola BT
(ERRZET
=58 8111113580 BB VI MOt BT
A= S
=5 811106|Z0/E BlFES VI Wola BT
(ERRZET
=5 811104| 205 BlFES VI Wola BT
A= S
=58 811122(1508% BlFES VI Wola BT
(ERRZET
=5 811112[#%02 BlFES VI Wola BT
(ERRZET
=5 811114380 BlFES VI Wola BT
(ERRZET
=58 81111538038 BlFES VI Wola BT
(ERRET
=5 811117|3R08 BlFES VI Wola BT
(ERRZET
=1t 815220 {E0Es EESQY! Wola BT
(ERRET
—B]m 810211|$805% BlFES VI WOE BT
=ER 819131|E08) BB VI 5ROZR =7 =5H  [09:00%09:50
={tEB 815124|E0%& BB VI BROYY =7 =5H  [09:00%09:50
=E7 813235|Z&0E BB VI BROLE =7 =5H  [09:00%09:50
=E7 813201|F03% BB VI BROLE S0 =5H  [09:00%09:50
=E7 813215|F%05E BB VI BROLE =7 =5H  [09:00%09:50
=57 811219|3R032 BB VI BROLE =7 =5H  [09:00%09:50
= 8E 816106(|Z0iE BB VI BROLE =7 =5H  [09:00%09:50
= 3E 816134 |50 BB VI BROLE =7 =5H  [09:00%09:50
=F:& 818124|2015 BB VI B0z =7 =5H  [09:00%09:50
=% 812105| 0% BB VI 22028 =7 =5H  [09:00%09:50
=% 812110|3R05% BB VI 22028 =7 =5H  [09:00%09:50
(ERRZET
=5 811114380 FEREET =08 EEs
(ERRZET
=55 811112|#0%8 FEREZED =08 BT
(ERRZET
=58 811122(1508% FEREET =08 BT
(ERRET
=5 811115|38038 FERZET =08 BT
(ERRZET
=5 811121|=0% FERZET =08 BT
(ERRET
=58 811104| 205 FEREET =08 BT
(ERRZET
=5 811105|Z044 FERZET =08 BT




ERREE

=5 811106|Z0E FEREET =08 BT

A= S

=5 811111[3801E FEREET =08 BT

(ERRZET

=5 81110105 FEREET =08 HiTE

A= S

S EP 811110|#50 FERZET 205 BT

(ERRZET

=5 811137[3R0J& FEREET =08 BT

A= S

=5 811136|2I0& FEREET =08 BT

(ERRZET

S EP 8111263807z FEREET =08 BT

A= S

=5 811124| B0 FEREET =08 BT

(ERRZET

=5 811129|E02 FERZET =08 BT

A= S

S EP 811127(2201% FEREET =08 HiTEHE

(ERRZET

=5 811132| 0= FEREET %08 BT

(ERRZET

=5 811133|&0AR FEREET %08 BT
=ER 819131|E08) FEFREIETT 3RO 2O = [15:00%15:50
=87 810133|&J0&E FEFREIETT =0E 2O = [15:00%15:50
=87 810128|E0iE FEFREIETT =0E 2O = [15:00%15:50
=E7 813215|F%05E FEFREIETT =0E B0 = [15:00%15:50
=1t 815212|380 FEFREIETT =0E 2O = [15:00%15:50
=12 815207|#R0%E FEFEIEAT =0X 2200 =#EE [15:00£15:50

TEREZLEm

=1EEE 815124|E0& {EIREO =0FE BITRE

TEREZIEm

=12 815221|=01g {EIREO =0FE BITRE

TEREZLEm

=1t 815212|580 EERET =028 BiTEE

TEREZLEm

={t2 815220|B0ES EERET =028 BiTEE

TEREZLEm

=15 815124|E0%E B 20FE BiTERIE
=8 810133|&J0&E BYEKRI Fox FRORE —xE [13:00%13:50
=8 810114|F%0:E BYERIO Fox FRORE —xE [13:00%13:50
=8 810107|EBOEL BYERIO Fox FRORE —xE [13:00%13:50
=8 813134|#5032 BYERIO SROE =7 =357 [10:00%10:50
=8 813134|#5032 BN Z&01h FRORE —xE [13:00%13:50
=8 813201|F03% BN Z&01h FRORE —xE [13:00%13:50
=8 813215|F%05E BN Z&01h FRORE —xE [13:00%13:50
=8 813207|4C0F5 BN Z&01h FRORE —rE [13:00%13:50
=8 813211|3R032 BN Z&01h FRORE —xE [13:00%13:50
=8 81310701 BN Z&01h FRORE —xE [13:00%13:50
=8 813233|4E0E BN Z&01h FRORE —xE [13:00%13:50
=7 812202|20%## AR F0%8 FRORE =xE [13:00213:50




